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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

;‘ 1 The diagram shows a right-angled triangle.

Tx Sx + 18

All the angles are in degrees.

vRvsHCaRIOveT

Work out the size of the smallest angle of the triangle.
Tr+ S 12 +90 = 120
. 2% = 0
% = Iy

Tl kb= uL
Sh 418 = Sxlbald = )

(Total for Question 1 is 3 marks)

| 2 Abox exerts a force of 140 newtons on a table.

The pressure on the table is 35 newtons/m?. F
pP=—

Calculate the area of the box that is in contact with the table. 4
p = pressure

B F'=force
|+0 = 35 A= area
A
LA W0 = ‘V
as
"
.. .. N
(Total for Question 2 is 3 marks)
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There are only red counters, blue counters, green counters and yellow counters in a bag.

The table shows the probabilities of picking at random a red counter and picking at

random a yellow counter.

!
| Colour

red

| Probability

0.24

green
|

C-’ibj 0.32

yellow

The probability of picking a blue counter is the same as the probability of picking a

green counter.

Complete the table.
- Ltk % G970 =

C-4+d _ (0.0

0- Sk
- 0-Sb = 0. uy¢

(Total for Question 3 is 2 marks)

A pattern is made using identical rectangular tiles.

—_—— —>

|

et
<

11cm

>

Find the total area of the pattern.

r\

ALEA ¢E O K&CTaLE

Torm Awea = U x

¥4

= Ux3 = Lo

YR o

(Total for Question 4 is 4 marks)
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' 5 The diagram shows a sand pit.
The sand pit is in the shape of a cuboid.

Sally wants to fill the sand pit with sand. 40cm
A bag of sand costs £2.50
There are 8 litres of sand in each bag.

Sally says,
“The sand will cost less than £70”

Show that Sally is wrong.
Vovmes = UO ¥ 100 x LT = 2 devco (MG
< Qd4C LeTeES
NUMBEN OF RA4S oF SAAd = 24D = 30
2

s
e Mot Tan E10O.

H

CosT  OF Sari = 80 « %Q’Sb

(Total for Question 5 is 5 marks)
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: ! 6 Four friends each throw a biased coin a number of times. I:
’ The table shows the number of heads and the number of tails each friend got.
o {
é} | r_ﬂ.__m__..,___q} SR | i G ‘ R
| | Ben  Helen | Paul  Sharif
R T B
e | !
E heads | 34 | 66 80 | 120 | 3Boo
g wils 8 12| 40 4 ee |
G- 74 Lo (4 = oo
The coin is to be thrown one more time. ’
(a) Which of the four friends’ results will give the best estimate for the probability that ':
the coin will land heads?
Justify your answer. |
i
Paul says, f
“With this coin you are twice as likely to get heads as to get tails.” !
(b) Is Paul correct?
Justify your answer.
n Bpo s =y - '/ B S i |
,,,,,,, PH) = e T T4 B 2T L teoc ss Wt Gopgeet
....... dow. AGG 2. Twaes As Liedoy To 6ot Memds (e kovie, |
e : go 2w HE |
AT s fews Awe e vs GRleer Swee e < ©¥Tae) |
@) |
The coin is to be thrown twice. I
(c) Use all the results in the table to work out an estimate for the probability that the coin
will land heads both times.
B, w2
O
A
................. e
()
(Total for Question 6 is 5 marks)
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(a) Write down the exact value of cos30°

(b)
12¢cm
xcm
30¢°
Given that sin30° = 0.5,
work out the value of x.
S'l‘/‘l o = DS = 1
i
’ %A DS >l = e
(Total for Question 7 is 3 marks)
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| 8 The mass of Jupiter is 1.899 x 10%kg.
The mass of Saturn is 0.3 times the mass of Jupiter.

(a) Work out an estimate for the mass of Saturn.
Give your answer in standard form.
'L—]

0-%.e .22 % O

1—1
NP2 x Lo 1o

~ -ﬁ:]
T C-k = O
o
p= G = O

(b) Give evidence to show whether your answer to (a) is an underestimate or an overestimate.

(Total for Question 8§ is 4 marks)

9 ‘Walkden Reds is a basketball team.

At the end of 11 games, their mean score was 33 points per game.
At the end of 10 games, their mean score was 2 points higher.

Jordan says,

“Walkden Reds must have scored 13 points in their 11th game.”

Is Jordan right?
You must show how you get your answer.

i GAmes - ToTAC  oTs

o GAMES TOTAL l"QD;,-J’FS = 35 wio = 38

1]
.
-
B

by o A )
PoiRTs 1N H* GAME - b5 - 350

So JonoaN is RigHT,

23 =1t = 2BLD

(Total for Question 9 is 3 marks)

Pearson Edexcel Level | /Level 2 GCSE (9-1) in Mathematics ~
Specimen Papers Set | - September 2015 © Pearson Education Limited 2015



| 10 There are some red counters and some yellow counters in a bag.

There are 30 yellow counters in the bag.
The ratio of the number of red counters to the number of yellow counters is 1:6

(a) Work out the number of red counters in the bag.

I & ¢

)
Riza puts some more red counters into the bag.
The ratio of the number of red counters to the number of yellow counters is now 1:2
(b) How many red counters does Riza put into the bag?
fz 4%
g L)
I's R0
18w B = O
............ (o
(2)
(Total for Question 10 is 4 marks)
2

| 11 Write down the value of 125?%
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Sean says,

Is Sean right?
You must show how you get your answer.

Sean drives from Manchester to Gretna Green.

He then has 150 miles to drive to get to Gretna Green.
Sean drives these 150 miles at an average speed of 30 mph.

He drives at an average speed of 50 mph for the first 3 hours of his journey.

“My average speed from Manchester to Gretna Green was 40 mph.”

DsHaves For 157 2 mose§ = SOx 3 = SO MiéEs,
', Towmr DiSTAncs = 1So + 152 = Bve MILETS
I Fa 277 s Miws = IST - S koS
3
V. ToTAL TimE = B +S = f Houes |
Aatras STad PR LHakd uns = ?Ei = %37.5 M
2
Se Séna 15 REuag

(Total for Question 12 is 4 marks)

iy |
4

13 m=

Make £ the subject of the formula.

3
‘M’V: k"i"’
il
L i1
Lo = I+ |

(Total for Question 13 is 3 marks)
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x+2 x-2

' 14 Solve =8 =3

3x 2x

,'71((1;2) +3nlx-2) = 3
bu?

T

Dati U+ 30— b = 1B

fg'kq‘f- 2 = O

ox (1Buer) = O
o,

RoT v £ 0O ((Qzcavses CA~NNOT .
DivideE By © x=§ - 45

(Total for Question 14 is 3 marks)

j 15 Show that == == = can be written in the form ekt

2 — —
G~ —Ha— G where a, b, ¢ and d are integers.

X +6x+5 cx+d

Wrby+S = ("'L*')(”L* g)
225 = (1nmS)Cnr 1)

@I:mg?"r—
(200-s) ) - Da- S
() (x b 5) nES

(Total for Question 15 is 3 marks)
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16 These graphs show four different proportionality relationships between y and x.

VA Ya

0 > 0 g
Graph A Graph B

YV YA

0 g 0 ¢
Graph C Graph D

Match each graph with a statement in the table below.

|; Proportionality relationship Graph letter !

i

| y is directly proportional to x

y is proportional to the square of x

‘ y is inversely proportional to x ‘ A |
: !
|
v is inversely proportional to the square of x !

1 '

(Total for Question 16 is 2 marks)
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17

PQ=PR.
S is the midpoint of PQ.
T'is the midpoint of PR.

Prove triangle QTR is congruent to triangle RSQ.

Sineem P = P2 And S And T AlE [EsREcrius Ml TS
LERGT S = Lem¢ny TH

Sines g = PR TTAANGLE PRE 1S I1SoScasS

A
SR = TFE

Bt

| TlANGes QTE A~d> RS AGE (CavsevsdT By Sas
(Total for Question 17 is 3 marks)
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. 18 The diagram shows a solid hemisphere.
| 4
Volume of sphere = gn'rf’

Surface area of sphere = 47r?

The volume of the hemisphere is ? T

Work out the exact total surface area of the solid hemisphere.
Give your answer as a multiple of .

°. 2 = 250
R . S i v = 57 = 2 5 = L3I
Vowvme cE HeEMISHEte = 5 *x B 70 = 2T oL
= 3
3
s’ poo= 12 S
; S-S
) T T . >
S'a. oF Hemispha?te = Lo YW7or + ‘@& = T
' 2
=
= B S
AN
......... 7§" cm
o (Total for Question 18 is 4 marks)
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| 19 Simplify fully

(6=5)(6+ +/5)
V31

You must show your working.

Rl + bAT = LS - 428 = '3(0 -5 - 2
ER) V3 VT
= 3, \I;f?__!__ 2 S NEX) e R
SEX =Y 2 ~3

(Total for Question 19 is 3 marks)

| 20 Prove algebraically that the difference between the squares of any two consecutive

integers is equal to the sum of these two integers.

RET Twe 2 CSrwtivs INTeqers BE A aet

(r\.;,,t)mz- (A=) (A b)) o= A Lo #
D FReencs (ETeeN  SQuaws - u'\’vr Zn 41 i 2a 1
SUM = AbkAart = Akt
W v)

(Total for Question 20 is 4 marks)
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' 21 There are 10 pens in a box.

There are x red pens in the box.
All the other pens are blue.

Jack takes at random two pens from the box.

e

o —"%.

Find an expression, in terms of x, for the probability that Jack takes one pen of each colour.

Give your answer in its simplest form.

BLe (IO ~1v.)

’)L(i\.) -—1(.) +

& 0O A0

2% (_TO—Z:)
ao

€ (10 -)

xC

b ™
IO"L-’T*}" (O — DU

Cio

L.
w20 - 2xT | 10w -

ac )
= ‘1%(‘0 - ) q((\OﬂL)
&\ O 3
[Qn =™

(Total for Question 21 is 5 marks)

S
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B
Sa—b
¥
6b
X
A P
3a ¢
CAYB is a quadrilateral.
—_—
CA4 =3a
—_>
CB =6b
—_—
BY =5a-b
X is the point on AB such that AX: XB=1:2 ', BX = % A
— 2 —
Prove that CX = 3 cY
—3 - =2 < -
v = (B+R1= bbb +Sa~-b = Farsh - 3—(54,_5}
- D D =55
CX = CH+RX = 6L+ 2 A
- 3
E-A? = ™ L."_J + gﬁ
2 bb + 3 , RTINS
C.X‘G:rlo**?-c_ s (‘-\419;/(’&(“'/
- -3 %
. (,la —_ '-Flo -+ 2 oL . — _ —_—
CHX = 2'/ C
Y
- 24 + 2b
= Z{a+k)
(Total for Question 22 is 5 marks)
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B *Z\WN x

G, -1

T

WRI

AT ' Find an equation of the line that passes through C and is perpendicular to 45.

LOADIENT CF AL = o - 2
2

1

- Yo — ~ _ [
GRAMNENT CF JEeiendicvemt To M= T 4
EHvATion ¢F Liws THZUGH C 15

. + Iz
4= ">

sy
4
"
i
1
|
N\

' - - / X+ ?
It 74
z el x+ z
,,,,,,, }f N 8 [T
(Total for Question 23 is 4 marks)

 TOTALFOR PAPER IS 80 MARKS
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